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256%.
Ne ©sbobgagds bmds o @ome.
1 [30Folbges aoblopgbols dmb@sgo s dobo aodmes d=57X3,5 d 10941,0
2 [B0Fobbgos goblowgbol 8mbdsgo ws dobo aodmEes d=76X3,5 d 1863,0
3 1698 ™bols bogydgganol dmFymds Logdwgbgdolomgols 2092X0,155 3 324
4 |B®obdgols dmfgmos I go@gam@ools a@9bddo Bgdbogom 3009X0,48X%1,3 3 1877,6
5 |3®sbdgols dmFymds III 3@ gyméool aé9bddo byanom 422X0,55X1,3 > 301,7
6 |bgedgBo adgbBol yo@obs 1033-0l dsbdognby (324+>5£:91+686) 3 17149
7 |3®sb3gol IobFmmgds s wodydoggds bgemom 3431X0.53 92 18184
8 |Jg0dol dognodols ImTymds (50983 gL 23 a@sbyaom) 3431X0,16 > 5490
9 |3maogmogrgbols dJoanols dmb@ogo o godmgs d=40 d 745,0
10 [3mgnogomoengbols Bogrols dmb@ogo o aodmEes d=63 d 2686,0
11 [doob@ol @oygds ©o@3g3ghbs abgdol swwagbolingols 3431X1X0,2 3 686,2
12 [d9®™bodgdaeo bsboswgmg sdbols sy gbs 36X0,5X1 & 18,0
13 [30M53009d0L v Lboggdom godgdgos (b59.(bggolmgols) 100% G 1067
14 [153.7bg930l hodzg®ols dmb@sgo d=80 G 1,0
15 [153.§bg95301 hodgzgBols dmb@sgo d=100 G 2,0
16 [53.bgg30l hodzg®ols dmb@sgo d=150 G 2,0
17 [gotmem dmbsgggmols go@sgggms (obs®mo Nel) G 4,0
18 doFolbges 2oblowgbols ws Logdogbgdol dgmgdgs 2-x g6 P 43210
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